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1. The value of 

1
3 41 1

3 35 8 27
  
  
   

is 

1
3 41 1

3 35 8 27
  
  
   

का भान है 

(a) 5  (b)52   (c)53   (d) 54  

2. The price of petrol increased by 25%. In order that 

expenses on petrol should not increase, one must 

reduce travel by 

मदद ऩेट्रोर की कीभत 25% की दय से फढ़ जाती है ऩयन्तु ऩेट्रोर ऩय खर्च 
न फढे़, तफ इसके लरए मात्रा भें कटौती कयनी ऩडगेी 

(a) 25%  (b) 20%  (c) 18%  (d) 15%  

3. The diagonals AC and BD of a parallelogram ABCD 

interest each other at the point O. If DAC = 32°, 

AOB=70°, then DBC is equal to 

सभान्तय र्तुबुचज ABCD के विकर्च AC औय BD एक-दसूये को बफन्द ु0 

ऩय काटत ेहैं। मदद DAC = 32°, AOB =70°, तफ DEC का 
भान है 

(a) 24°   (b) 86   (c) 38°   (d) 32°  

4. It is proposed to build a single circular park equal in 

area to the sum of areas of two circular parks of 

diameters 16 m and 12 m. The radius of the new park 

would be 

एक ितृ्ताकाय ऩाकच  फनाने का प्रस्ताि ककमा जाता है। जजसका ऺेत्रपर, 

क्रभश: 16 भी औय 12 भी व्मास के दो ितृ्ताकाय ऩाकच  के ऺेत्रपरों के 

मोग के फयाफय है। नए ऩाकच  का अर्द्चव्मास होगा 

(a) 10 m  (b) 15 m  (c) 20 m  (d) 24 m  

5. An edge of a cube measures r сm. If the largest 

possible right circular cone is cut out of this cube, then 

the volume of the cone (in cm3) is 

ककसी घन का ककनाया r सेभी है। मदद इसभें से सम्बावित फड-ेसे-फडे 
रम्फितृ्तीम शॊकु काटा जाए, तफ शॊकु का आमतन (घन सेभी भें) है 

(a) 31

6
r  (b) 31

12
r  (c) 31

3
r  (d) 32

3
r  

6. If 1350 is divided by 14, the remainder is  

मदद 1350 को 14 से बाग ददमा जाए, तो शेषपर है 

(a) 13   (b) 12   (c) 1   (d) -1  

7. If x = 3 + 8, then value of 3

3

1
x

x
  is 

मदद x = 3 + 8, हो, तो 3

3

1
x

x
   का भान है । 

(a) 216  (b) 198  (c) 192  (d) 261  

8. Factors of x2 + 32x + 4 are 

x2 + 32x + 4 के गुर्नखण्ड है 

(a) (x + 2+2)(x - 2)   

(b) (x + 22)(x + 2)  

(c) (x - 22)(x - 2) 

(d) (x - 22)(x + 2)  

9. Two adjacent sides of a parallelogram are 74 cm and 

40 cm. If one of its diagonals is 102 cm, then area of the 

parallelogram is  

एक सभान्तय र्तुबुचज की दो सॊरग्न बुजाएॉ 74 सेभी औय 40 सेभी हैं। 
मदद इसके विकर्ों भें एक विकर्च 102 सेभा हो, तो सभान्तय र्तुबुचज 

का ऺेत्रपर है। 

(a) 618 sq. cm  (b) 1224 sq. cm   

(c) 2448 sq. cm  (d) 1242 sq. cm  

10. If each exterior angle of a regular polygon is 18°, 

then the number of sides of the polygon is  

मदद एक सभ फहुबुज का प्रत्मेक फदहष्कोर् 18° है, तो फहुबुज के 

बुजाओॊ की सॊख्मा है  

(a) 10    (b) 15   

(c) 20    (d) 30 

11. The distance of the point (-7,-2) from Y-axis is 

विन्द ु(-7,- 2) की y-अऺ की दयूी है  

(a) 9 unit/ इकाई (b) 51 unit/ इकाई   

(c) 7 unit/ इकाई  (d) 2 unit/ इकाई  
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12. A solid cylinder has total surface area of 462 sq. cm. 

If its curved surface area is one-third of its total surface 

area, then the volume of the cylinder will be 

एक ठोस फेरन का सम्ऩूर्च ऩषृ्ठ ऺेत्रपर 462 िगच सेभी है। मदद इसका 
िक्र ऩषृ्ठ ऺेत्रपर, सम्ऩूर्च ऩषृ्ठ ऺेत्रपर का एक-ततहाई हो, तो फेरन का 
आमतन होगा  

(a) 639 cm3  (b) 539 cm3   

(c) 439 cm3  (d) 600 cm3  

13. A rectangular piece of paper 11 cm × 4 cm is folded 

without overlapping to make a cylinder of height 4 cm, 

then the volume of the cylinder will be  

11 सेभी × 4 सेभी, एक आमताकाय ऩेऩय के टुकड ेको भोडकय एक फेरन 

फनामा जाता है। मदद फेरन की ऊॊ र्ाई 4 सेभी हो, तो फेरन का आमतन 

होगा 

(a) 37.5 cm3  (b) 38.5 cm3   

(c) 35.8 cm3   (d) 28.5 cm3  

14. The graphs of lines x + 2y - 3 =0 and 2x + 4y + 11 = 

0  

येखाओॊ x +2y-3=0 औय 2x +4y+11=0 के ग्राप 

(a) intersect at each other / एक-दसूये को काटत ेहै 

(b) coincide with each other / एक-दसूये के सम्ऩाती हैं  

(c) are parallel to one another/ एक-दसूये के सभान्तय हैं 

(d) are perpendicular to each other / एक-दसूये के रम्फित ्है 

15. As per national curriculum framework 2005, the 

sequence of Mathematics is  

याष्ट्रीम ऩाठ्मर्माच की रूऩयेखा-2005 के अनुसाय गणर्त का अनुक्रभ है 

(a) Before language / बाषा से ऩहरे 

(b) After language/ बाषा के फाद 

(c) After science/ विऻान के फाद  

(d) After social science / साभाजजक विऻान के फाद 

16. Inductive method of teaching Mathematics we 

proceed from  

गणर्त लशऺर् भें आगभन विधध द्िाया हभ आगे फढ़त ेहैं 

(a) Abstract to concrete / सूक्ष्भ से स्थूर की ओय  

(b) General to specific / साभान्म से विलशष्ट की ओय 

(c) Known to unknown/ ऻात से अऻात की ओय 

(d) Unknown to known / अऻात से ऻात की ओय 

17. In a pair of adjacent angles (i) Vertex is always 

common, (ii) one arm is always common and (iii) 

uncommon arms are always opposite rays. Then  

ककसी आसन्न कोर्ों के मुग्भ भें  (i) शीषचविन्द ुहभेशा उबमतनष्ठ होता 
है। (ii) एक बुजा हभेशा उबमतनष्ठ होती है। (iii) िे बुजाएॉ, जो 
उबमतनष्ठ नहीॊ हैं हभेशा विऩयीत ककयर्ें होती हैं। तफ,  

(a) (ii) is false / (ii) असत्म है 

(b) (iii) is false / (ii) असत्म है 

(c) All (i), (ii) and (iii) are true/ (i), (ii) तथा (iii) सबी सत्म है। 

(d) (i) is false, but (ii) and (iii) are true/ (i) असत्म है, ऩयन्तु 

(ii) तथा (iii) सत्म है  

18. If area of an equilateral triangle is ‘a’ having height 

‘b’, then 
2b

a
 is  

मदद सभिाहु बत्रबुज का ऺेत्रपर ‘a’ तथा इसकी ऊॉ र्ाई 'b’ हो, तफ 
2b

a
  

है 

(a) 
1

3
  (b) 

1

3  
  

(c) 3  (d) 3  

19. There are 10 persons in a party. If each one of them 

shakes hand with others exactly once. The total number 

of handshakes is  

एक ऩाटी भें 10 ऩुरुष हैं। मदद प्रत्मेक इसभें दसूये से केिर एक फाय हाथ 

लभराता है, तो हाथ लभराने की कुर सॊख्मा है 

(a) 105  (b) 55    

(c) 45  (d) None of these  
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20. A horse is tethered to a stake by a rope of 30 m 

long. If the horse moves along the circumference of a 

circle keeping rope tight, find that how far the horse 

have gone from initial point if the rope has traced an 

angle of 105° at the centre? 

एक घोडा 30 भीटय रम्फी यस्सी द्िाया ऩट से फॊधा है। जफ घोडा यस्सी 
को कसी हुई यखते हुए ितृाकाय ऩथ ऩय घूभता है औय केन्र ऩय 105º का 
कोर् फनाता है तो ऻात कीजजए कक घोडे ने प्रायजम्बक जस्थतत से ककतनी 
दयूी तम की? 

(a) 55 m  (b) 5.5 m  (c) 155 m  (d) 25 m  

21. A man and his wife appear for an interview for two 

posts. The probability of husband's selection is 
1

7
 and 

that of wife's selection is 
1

5
. What is the probability of 

only one of them will be selected? 

एक व्मजतत औय उसकी ऩत्नी दी रयतत स्थानों के साऺात्काय भें आते हैं। 
ऩतत के रु्ने जाने की प्रातमकता  

 
  तथा उसकी ऩत्नी के रु्ने जाने की 

प्रातमकता  
 
 है। इनभें से ककसी एक के रु्ने जाने की प्रातमकता तमा होगी?  

(a) 
1

7
  (b) 

2

7
  (c) 

2

5
  (d) 

1

5
 

22. 
3 1

2

5 6 5

9 5 2

n n

n n

  

  
 is 

3 1

2

5 6 5

9 5 2

n n

n n

  

  
  है 

(a) 91   (b) 19   (c) 10  (d) 1 

23. 
5

9 4 5 9 4 5  
 is equal to 

5

9 4 5 9 4 5  
  फयाफय है 

(a) 
1

2
   (b) 

1

3
  (c) 

1

5
  (d) 

1

4
 

24. A man buys two books at ` 410 and sells both at 

same price. One gives him a profit of 15% and another a 

loss of 10%. The cost price of both books is 

एक व्मजतत दो ककताफें `410 भें खयीदता है औय दोनों ककताफों को सभान 

भूल्म ऩय फेर्ता है। एक से उसे 15% का राब तथा दसूये से 10% की 
हातन होती है। दोनों ककताफों का क्रम भूल्म है 

(a) ` 110, `260  (b) `120, `290   

(c) `180, `230  (d) None of these 

25. Which of the following statement is true? 

तनम्नाॊककत भें से कौन-सा कथन सत्म है? 

(a) 

1/2 1/3
1 1

2 3

   
   

   
   

(b) 

1/2 1/3
1 1

2 3

   
   

   
 

(c) 

1/2 1/3
1 1

2 3

   
   

   
 

(d) None of these/ इनभें से कोई नहीॊ 

26. Out of 12 observations arranged in ascending order, 

the sixth and seventh observations are 14 and 15 

respectively. Find the median of all the 12 observations.  

12 पे्रऺर् आयोही क्रभ भें सजाकय यख ेगए है। छठे औय सातिें पे्रऺर् के 

भान क्रभश: 14 औय 15 है। सभस्त 12 पे्रऺर्ों की भाजयमका होगी। 

(a) 29  (b) 14.5   

(c) 15  (d) None of these  

27. Find the least number of square tiles required to 

pave the floor of a room 15 m 17 cm long and 9 m 2 cm 

broad.  

उन िगाचकाय टाइल्स की न्मूनतभ सॊख्मा ऻात कीजजए जोकक 15 भी 17 

सेभी रम्फे औय 9 भी 2 सेभी र्ौडाई िारे कभये की पशच भें रगाई जानी 
है। 

(a) 902  (b) 800   

(c) 814  (d) None of these 

28. A motor boat whose speed is 15 km/h in still water 

goes 36 km upstream and comes back to the starting 

point in 5 hours. Find the speed of the stream.  

एक भोटयफोट, जजसकी शान्त जर भें र्ार 15 ककभी/घण्टा है, धाया के 

विऩयीत 36 ककभी जाने औय शुरुआत स्थान ऩय िाऩस आने भें 5 घण्टे 

का सभम रगता है। धाया प्रिाह (र्ार) ऻात कीजजए। 

(a) 5 km/h    (b) 10 km/h  

(c) Can't determine  (d) 3 km/h  
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29. The sum of two natural numbers is 8. Determine the 

numbers if the sum of their reciprocals is 
8

15  

दो प्राकृततक सॊख्माओॊ का मोग 8 है। उन सॊख्माओॊ को ऻात कीजजए, 

जफकक उनके व्मुत्क्रभों का मोग 
8

15  
है।

 

(a) 3,5   (b) 6,2    

(c) 4,4  (d) None of these  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

30. The ratio of two numbers is 5:6 and their HCF is 12. 

Their LCM is  

ककन्हीॊ दो सॊख्माओॊ का अनुऩात 5:6 है औय उनका भ.स. 12 है। इन 

सॊख्माओॊ का र.स. है 

(a) 60   (b) 72.   

(c) 180  (d) 360 


